

$$\begin{aligned}
 1.1) \quad \int \frac{\cos^5 x}{\sin^4 x} dx &= \int \frac{\cos^4 x}{\sin^4 x} \cdot \cos x dx = \int \frac{(1-\sin^2 x)^2}{\sin^4 x} \cdot \cos x dx = \\
 &= \left\{ \begin{array}{l} t = \sin x \\ dt = \cos x dx \end{array} \right\} = \int \frac{(1-t^2)^2}{t^4} dt = \int \frac{1}{t^4} - \frac{2}{t^2} + 1 dt = \\
 &= \cancel{-\frac{t^3}{3}} - \frac{1}{3t^3} + \frac{2}{t} + t = \underline{\underline{-\frac{1}{3\sin^3 x} + \frac{2}{\sin x} + \sin x}}
 \end{aligned}$$

$$\begin{aligned}
 1.2) \quad \int \cos^2(x-2) dx &= \left\{ \begin{array}{l} \cos 2x = \cos^2 x - \sin^2 x = 2\cos^2 x - 1 \\ \cos^2 x = \frac{1 + \cos 2x}{2} \end{array} \right\} = \\
 &= \frac{1}{2} \int 1 + \cos(2x-4) dx = \left\{ \begin{array}{l} t = 2x-4 \\ dt = 2dx \end{array} \right\} = \frac{1}{4} \int 1 + \cos t dt = \\
 &= \frac{1}{4} (t + \sin t) = \underline{\underline{\frac{1}{4} (2x-4 + \sin(2x-4)) = \frac{x-2}{2} + \sin(2x-4)}}
 \end{aligned}$$

$$2.1) \int \frac{\sqrt{\ln x^2 + 4}}{x \ln x} = \left\{ \begin{array}{l} t = \ln x \\ dt = \frac{1}{x} dx \end{array} \right\} = \int \frac{\sqrt{t^2 + 4}}{t} dt =$$

$$= \int \frac{1}{\sqrt{t^2}} + \frac{4}{t} dt = 2\sqrt{t^2} + 4 \ln|t| = 2\sqrt{\ln x^2} + 4 \ln|\ln x| =$$

$$= \underline{\underline{2\sqrt{\ln x^2} + 4 \ln(\ln x)}} \quad \left(\begin{array}{l} \text{probiti integrirati funkcije} \\ \text{je definirane} \text{ jer } \ln x > 0 \end{array} \right)$$

$$2.2) \int \sin(\sqrt{x^2}) dx = \left\{ \begin{array}{l} t = \sqrt{x^2} \\ x = t^2 \\ dx = 2t dt \end{array} \right\} = 2 \int \sin t \cdot t dt =$$

$$= \left\{ \begin{array}{ll} w'(t) = \sin t & v(t) = t \\ w(t) = -\cos t & v'(t) = 1 \end{array} \right\} = 2 \left(t \cdot (-\cos t) + \int \cos t dt \right) =$$

$$= 2 \left(-t \cdot \cos t + \sin t \right) = \underline{\underline{2(-\sqrt{x^2} \cdot \cos \sqrt{x^2} + \sin \sqrt{x^2})}}$$

3.1)

$$\int (2x^2 - 2x + 1) \cdot \cos x \, dx = \left\{ \begin{array}{ll} u(x) = 2x^2 - 2x + 1 & v'(x) = \cos x \\ u'(x) = 4x - 2 & v(x) = \sin x \end{array} \right\} =$$

P.P.

$$= (2x^2 - 2x + 1) \cdot \sin x - \int (4x - 2) \cdot \sin x \, dx =$$

$$= \left\{ \begin{array}{ll} u(x) = 4x - 2 & v'(x) = \sin x \\ u'(x) = 4 & v(x) = -\cos x \end{array} \right\} \text{ P.P.} =$$

$$= (2x^2 - 2x + 1) \cdot \sin x - \left((4x - 2)(-\cos x) + \int 4 \cdot \cos x \, dx \right) =$$

$$= (2x^2 - 2x + 1) \cdot \sin x + (4x - 2) \cos x - 4 \sin x =$$

$$= \underline{\underline{(2x^2 - 2x - 3) \cdot \sin x + (4x - 2) \cdot \cos x}}$$

$$3.2) \int (x^2 - 1) e^{2x} \, dx = \left\{ \begin{array}{ll} u(x) = x^2 - 1 & v'(x) = e^{2x} \\ u'(x) = 2x & v(x) = \int e^{2x} \, dx = \frac{1}{2} e^{2x} \end{array} \right\} =$$

$$\text{P.P.} = \frac{1}{2} (x^2 - 1) e^{2x} - \int x \cdot e^{2x} \, dx = \left\{ \begin{array}{ll} u(x) = x & v'(x) = e^{2x} \\ u'(x) = 1 & v(x) = \frac{1}{2} e^{2x} \end{array} \right\} =$$

$$\text{P.P.} = \frac{1}{2} (x^2 - 1) \cdot e^{2x} - \left(\frac{x}{2} e^{2x} - \int \frac{1}{2} e^{2x} \, dx \right) =$$

$$= \frac{1}{2} (x^2 - 1) e^{2x} - \frac{x}{2} e^{2x} + \frac{1}{2} \frac{e^{2x}}{2} = \underline{\underline{\frac{1}{2} e^{2x} \left(\frac{x^2}{2} - \frac{x}{2} - \frac{1}{4} \right)}}$$

$$4.1) \int \frac{1}{(1 + \sqrt[4]{x})^3 \cdot \sqrt{x}} dx = \left\{ \begin{array}{l} 4 = \text{n.n.n.}(2,4) \\ t = \sqrt[4]{x} \\ x = t^4 \\ dx = 4t^3 dt \end{array} \right\} =$$

$$= \int \frac{1}{(1+t)^3 \cdot t^2} \cdot (4t^3) dt = 4 \int \frac{t}{(1+t)^3} dt = 4 \int \frac{t+1-1}{(1+t)^3} dt =$$

$$= 4 \int \frac{1}{(1+t)^2} - \frac{1}{(1+t)^3} dt = \left\{ \begin{array}{l} u = 1+t \\ du = dt \end{array} \right\} = 4 \int \frac{1}{u^2} - \frac{1}{u^3} du =$$

$$= 4 \left(-\frac{1}{u} + \frac{1}{2u^2} \right) = 4 \left(-\frac{1}{t+1} + \frac{1}{2(1+t)^2} \right) = \underline{\underline{-\frac{4}{\sqrt[4]{x}+1} + \frac{2}{(\sqrt[4]{x}+1)^2}}}$$

$$4.2) \int \sqrt{\frac{2-x}{2+x}} dx = \left\{ \begin{array}{l} t = \sqrt{\frac{2-x}{2+x}} \\ t^2 = \frac{2-x}{2+x} \\ x = \frac{2-2t^2}{1+t^2} \\ dx = \frac{-4t(1+t^2) - (2-2t^2) \cdot 2t}{(1+t^2)^2} dt = \\ = -\frac{8t}{(1+t^2)^2} dt \end{array} \right\} =$$

$$= -8 \int t \cdot \frac{t}{(1+t^2)^2} dt = -8 \int \frac{t^2+1-1}{(1+t^2)^2} dt = -8 \int \frac{1}{1+t^2} - \frac{1}{(1+t^2)^2} dt =$$

$$= -8 \left(\arctg t - \frac{t}{2(1+t^2)} - \frac{1}{2} \arctg t \right) = -4 \arctg \sqrt{\frac{2-x}{2+x}} +$$

režurentni vzorec

pre $\int \frac{1}{(1+x^2)^n} dx$

$$+ \frac{4 \sqrt{\frac{2-x}{2+x}}}{1 + \frac{2-x}{2+x}} = \underline{\underline{-4 \arctg \sqrt{\frac{2-x}{2+x}} + \sqrt{4-x^2}}}$$

$$5.1) \int \frac{3x^4 - 3x^3 - 7x + 4}{x^3 - x^2 - x - 2} dx = \textcircled{*}$$

$$3x^4 - 3x^3 - 7x + 4 : x^3 - x^2 - x - 2 = 3x + \frac{3x^2 - x + 4}{x^3 - x^2 - x - 2}$$

$$\frac{3x^4 - 3x^3 - 3x^2 - 6x}{3x^2 - x + 4}$$

rozklad jmenovatele:

$$x^3 - x^2 - x - 2 = (x-2)(x^2 + x + 1)$$

$x=2$ je kořen

$$x^3 - x^2 - x - 2 : x - 2 = x^2 + x + 1$$

$$\frac{x^3 - 2x^2}{x^2 - x - 2}$$

$$\frac{x - 2x}{x - 2}$$

$$\frac{x - 2}{x - 2}$$

rozklad na parciální zlomky:

$$\frac{3x^2 - x + 4}{x^3 - x^2 - x - 2} = \frac{A}{x-2} + \frac{Bx+C}{x^2+x+1}$$

$$3x^2 - x + 4 = A(x^2 + x + 1) + (Bx + C)(x - 2)$$

$$x=2: \quad 14 = 7A \Rightarrow \underline{A=2}$$

$$A=2: \quad x^2 - 3x + 2 = Bx^2 + (C-2B)x - 2C \Rightarrow \underline{B=1, C=-7}$$

$$\textcircled{*} = \int 3x + \frac{2}{x-2} + \frac{x-7}{x^2+x+1} dx$$

$$\left\{ \int \frac{x-7}{x^2+x+1} dx = \frac{1}{2} \left(\int \frac{2x+1}{x^2+x+1} dx + \int \frac{-3}{x^2+x+1} dx \right) = \right.$$

$$= \frac{1}{2} \ln(x^2+x+1) - \frac{3}{2} \int \frac{1}{(x+\frac{1}{2})^2 + \frac{3}{4}} dx =$$

$$= \frac{1}{2} \ln(x^2+x+1) - \frac{3}{2} - \frac{4}{3} \int \frac{1}{\left(\frac{2(x+\frac{1}{2})}{\sqrt{3}}\right)^2+1} dx =$$

$$= \left\{ \begin{array}{l} u = \frac{2x+1}{\sqrt{3}} \\ du = \frac{2}{\sqrt{3}} dx \end{array} \right. \text{ integrate + proper substitution } \} =$$

$$= \frac{1}{2} \ln(x^2+x+1) - \sqrt{3} \arctan\left(\frac{2x+1}{\sqrt{3}}\right) \} =$$

$$= \frac{3x^2}{2} + 2 \ln|x-2| + \frac{1}{2} \ln(x^2+x+1) - \sqrt{3} \arctan\left(\frac{2x+1}{\sqrt{3}}\right)$$

$$5-2) \int \frac{\sqrt{x-4}}{x^3-3x^2+4} dx = (*)$$

prohled jmenovatele:

$$x^3-3x^2+4 = (x+1)(x-2)(x-2) = (x+1)(x-2)^2$$

↑ ↗
 kořeny -1, 2

$$\begin{array}{r} x^3-3x^2+4 : x^2-x-2 = x-2 \\ \underline{-(x^3-x^2-2x)} \quad (x+1)(x-2) \\ -2x^2+2x+4 \\ \underline{-(-2x^2+2x+4)} \\ 0 \end{array}$$

prohled na čeršnílné zlomky:

$$\frac{\sqrt{x-4}}{x^3-3x^2+4} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$\sqrt{x-4} = A(x-2)^2 + B(x+1)(x-2) + C(x+1)$$

$$x=-1: -9 = 9A \Rightarrow A=-1$$

$$x=2: 6 = 3C \Rightarrow C=2$$

$$A=-1, C=2: \sqrt{x-4} = -x^2+4x-4 + B(x^2-x-2) + 2x+2$$

$$\Rightarrow B=+1 \quad (\text{maji porovnatelné koeficienty u } x^2)$$

$$(*) = \int \frac{-1}{x+1} + \frac{1}{x-2} + \frac{2}{(x-2)^2} dx =$$

$$= \underline{\underline{-\ln|x+1| + \ln|x-2| - \frac{2}{x-2}}}$$